Maths Intermediate 2

Unit 2 Practice Assessment

Outcome 1

1.
The diagram opposite shows the triangle ABC.


(a)  Find the area of the triangle.


(b)  Find the length of the side BC.

2.
Find the unknown angle xo in each of the triangles below.





Outcome 2

3.
The graph opposite shows the line with equation


y  =  3x - 1


(a)  On the same graph plot the line with equation   x + y = 3


(b)  Use the result to solve graphically the system of equations:


y   =  3x - 1


    x + y
=  3

4.
Solve algebraically the system of equations:

3p  -  2q  =  20



5p   + 3q  =  46

Outcome 3

6.
The following numbers were produced in a survey:   23, 46, 42, 34, 21, 41, 24, 30, 33, 33, 25, 44


(a)  Find the minimum, the maximum, the median and the lower and upper quartiles.


(b)  Calculate the semi-interquartile range.


(c)  Draw a box-plot showing the distribution of this data.

7.
The results of a travel survey are shown in the table below.



(a)   Copy and complete the table.


(b)   Draw and label a Pie Chart to show the results of the survey.

Outcome 4

8.
Find the standard deviation of the following set of numbers:

23, 46, 42, 34, 21, 41, 24, 30, 33, 33, 25, 44

9.
The results of a science experiment are shown in the graph below.








(a)   Copy the graph and draw the line of best fit.


(b)   Find the equation of this line.


(c)   Use the line of best fit to estimate the Frequency when the Speed is 20 meters per second.

10.
There are four queens in a normal pack of cards.

When removing a card at random, what is the probability of removing a queen?
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Travel Destination�
Frequency�
Relative Frequency�
Angle In Pie Chart�
�
United Kingdom�
  32�
�
�
�
Europe�
  46�
�
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South America�
  7�
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Australia�
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y =  3x - 1








Speed (S) in meters per second




















